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Name: __________________________________



1
The expression [image: image1.png](e ) 216"



 is equivalent to

	1)
	[image: image2.png]12x°3/2





	2)
	[image: image3.png]1203 2x





	3)
	[image: image4.png]




	4)
	[image: image5.png]6x*3/2







2
The product of [image: image6.png]


 and [image: image7.png]


 expressed in simplest radical form is

	1)
	[image: image8.png]




	2)
	[image: image9.png]




	3)
	[image: image10.png]




	4)
	[image: image11.png]






3
When simplified, the expression [image: image12.png]


 is equivalent to

	1)
	[image: image13.png]




	2)
	[image: image14.png]




	3)
	[image: image15.png]




	4)
	[image: image16.png]






4
What is the product of [image: image17.png]


 and [image: image18.png]


?

	1)
	[image: image19.png]




	2)
	[image: image20.png]




	3)
	[image: image21.png]




	4)
	[image: image22.png]






5
The expression [image: image23.png](o3 |(3faa's



 is equivalent to

	1)
	[image: image24.png]2abifa?





	2)
	[image: image25.png]2ab





	3)
	[image: image26.png]2ab’
2a*





	4)
	[image: image27.png]20 b3 2k







6
The expression [image: image28.png]27a® 4 16m8



 is equivalent to

	1)
	[image: image29.png]6ab?





	2)
	[image: image30.png]6ad*





	3)
	[image: image31.png]12ab?





	4)
	[image: image32.png]12abt







7
Given [image: image33.png]y =0



, the expression [image: image34.png]Sty e 3fmiy?



 is equivalent to

	1)
	[image: image35.png]21x°;
1x°y°





	2)
	[image: image36.png]32y





	3)
	[image: image37.png]xiy





	4)
	[image: image38.png]xty







8
For [image: image39.png]x>0



, which expression is equivalent to [image: image40.png]


?

	1)
	[image: image41.png]




	2)
	[image: image42.png]




	3)
	[image: image43.png]




	4)
	[image: image44.png]10







9
Simplify:  [image: image45.png]




10
Simplify:  [image: image46.png]




11
Write [image: image47.png]


 as a single term with a rational exponent.

12
Simplify:  [image: image48.png]




13
Simplify:  [image: image49.png]




14
Simplify:  [image: image50.png]




15
Simplify:  [image: image51.png]




16
For positive values of x, which expression is equivalent to [image: image52.png]NIT R




	1)
	[image: image53.png]




	2)
	[image: image54.png]




	3)
	[image: image55.png]YL )





	4)
	[image: image56.png]N )







17
The sum of [image: image57.png]


 and [image: image58.png]


, expressed in simplest radical form, is

	1)
	[image: image59.png]




	2)
	[image: image60.png]22263 2122





	3)
	[image: image61.png]




	4)
	[image: image62.png]102,
0a*bife







18
Simplify:  [image: image63.png]





1
ANS:
4

[image: image64.png][i zh’][3 mx‘]:i .2t =327 - 642




REF:
011421a2

2
ANS:
4

[image: image65.png]am? 3 10m = 3 aom





REF:
081627a2

3
ANS:
4

[image: image66.png]



REF:
010617b

4
ANS:
1

[image: image67.png]26408 = W42 e b® = 4ab?





REF:
011516a2

5
ANS:
1

[image: image68.png](32 |(Maate ) - ¥l - 2anfe?




REF:
082213aii

6
ANS:
1

[image: image69.png]2 27a® 4 168° = 30 262 = 6ab?




REF:
061504a2

7
ANS:
4

[image: image70.png]3ty ok
275%? %xy‘ S
it iy
o3in’ 3
i o1
33,7
'y




REF:
081914aii

8
ANS:
3

[image: image71.png]



REF:
081812aii

9
ANS:


[image: image72.png]



REF:
019415al

10
ANS:


[image: image73.png]2xz




REF:
019811al

11
ANS:


[image: image74.png]ox




REF:
061731aii

12
ANS:


[image: image75.png]



REF:
019713al

13
ANS:


[image: image76.png]



REF:
089603al

14
ANS:


[image: image77.png]



REF:
119411al

15
ANS:


[image: image78.png]p2%a’s




REF:
039413al

16
ANS:
2

[image: image79.png]ERE T

Arex’ +2x° —dx +2x° = fx’




REF:
061820aii

17
ANS:
3

[image: image80.png]Jea's? +3[(27-6)a*b?
aAftab? +3a% 6ab?
4] 6ab?




REF:
011319a2

18
ANS:


[image: image81.png]bafa+

ab




REF:
089710al
